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The Trade Imbalance

The most pressing macroeconomic problems facing the United States today are the grossly disproportional trade deficit and the foreign investments being used to shore up the United States economy.  In the third quarter of 2004, real GDP increased 3.7 percent at a seasonally adjusted annual rate.  Real exports of goods and services increased by 6.3%, a decrease from the 7.3% second quarters reported.  In contrast the real imports increased from 10.6% in the second quarter to 12.6% in the third quarter of 2004.  This has followed a disturbing trend that for every dollar that the Gross Domestic Product has risen over the past five years, United States imports have grown by almost 40 cents – versus a 5-cent increase in the five years ending in 1965.   As an added note, a burst in the third quarter economy is attributed to the devastation caused by numerous hurricanes in the southeastern states and the reconstruction of those areas.
The trade imbalance is a trend that is leading America towards a potential economic crisis.   Since the early 1980s, United States imports have been exceeding United States exports by a wide and rapidly growing margin.  Americans have an insatiable desire for lower cost imports.  To finance their reliance on imports the United States economy has to attract about $1.5 billion a day from foreign investors and lenders to finance the Treasury debt.   Currently foreign investors hold more of the Treasury debt than the Federal Reserve.  

The reason foreign investors continue to lend and finance the United States debt is because their own economies would suffer severe damage and begin to crumble without the extensive imports to the United States.  As John Maynard Keynes stated, “If you owe your bank $10,000 and you can’t pay it back, you’ve got a problem.  But if you owe your bank $10 million and can’t pay it back, then the bank has a problem.”  

The move towards globalization and the dependence on imports has led to lost jobs for millions of Americans as factories close and move to foreign countries where labor is significantly cheaper.   This means that millions of Americans are now without an income or are earning a significantly reduced income as a result of losing their high paying factory jobs which have left the country.  This has reduced the standard of living for the many households, increased the number of loans defaulted on, the number of bankruptcies, and the number of American households without health insurance.  Until recently, only the manufacturing jobs have been exported out of the country.  The current trend is an exodus of technical jobs, such as software design and call centers to countries such as India.
Policy Changes
National Sales Tax

To help remedy this situation we need to restructure the economy and stop the protectionist measures currently in place which drive up the cost of American made products and services, here and abroad.  A good starting point for restructuring would be the elimination of the current tax structure and a move to a national sales tax plan.  Rep. John Linder, R-Georgia, has proposed a Fair Tax bill that creates a national sales tax.  According to Rep. Linder “We spend about $400 billion a year complying with the tax code.  We spend $200 billion a year just filling out IRS paperwork.”  
Proponents of a national sales tax have compiled research data and found that replacing the corporate tax system, the estate tax system, the income tax system, and the payroll tax system with a national sales tax would lower manufacturing costs leading to job creation, increased consumption, savings, and investments.

The American company would gain a significant edge in the global market place with the elimination of overhead expenses attributable to the current tax structure.  "If we were to get rid of the sales or the income tax and the payroll tax and all compliance costs, we would be so ferociously competitive in a world economy that corporate America would not be competed with unless foreign corporations started building their plants in America," Linder said.  This would lead to an increase in employment, exports, consumption, savings, and investments.
Economic Definitions

For the purpose of this report, a few basic economic principles are explained here.
Gross Domestic Product or GDP is defined as the market value of all final goods and services produced in a nation during a specified period, usually a year.  GDP excludes transactions in two major areas:  secondhand transactions and nonproductive financial transactions.  Nonproductive financial transactions are purely private or public financial transactions, such as giving private gifts, buying and selling stocks and bonds, and making transfer payments. A transfer payment is a government payment to individuals such as social security, unemployment, veterans’ benefits, and welfare.  GDP counts only finished goods and services produced for the ultimate user.

Nominal GDP refers to the total amount of money spent on GDP; real GDP refers to an effort to correct this number for the effects of inflation in order to estimate the sum of the actual quantity of goods and services making up GDP.  For the purposes of this report we will refer to real GDP only.
The expenditure approach calculates GDP by adding all the spending for final goods for a given period.  The formula to calculate GDP using the expenditure approach is:


GDP = C + I + G + (X –M)

Generally, the largest component of GDP is personal consumption expenditures (C), comprise total spending by households for durable goods (items that last longer than one year, such as a car), nondurable goods, and services (any transaction not in the form of a tangible object, such as medical care or legal advice) which is the largest portion of personal consumption expenditures.

Gross private domestic investment (I) includes all private domestic spending by businesses for investment and is the sum of two components: fixed investment expenditures for newly produced capital goods (i.e. structures, machinery, equipment, and tools), and net change in spending for unsold finished goods and raw materials (business inventories).
Government consumption expenditures and gross investment (G) is the value of goods and services the government purchases measured by their costs, such as, tanks, schools, police, and state university professors.  This excludes transfer payments because they do not represent newly produced goods and services.
Net exports (X – M) are the difference between exports (X) and imports (M).  Exports are expenditures by foreigners for United States domestic goods.  Imports are the dollar amount of Americans for foreign made goods.  
What is the National Sales Tax and Who Benefits
The national sales tax would tax only the new goods and services not considered a necessity to life (goods such as unprepared food would be exempt) that the individual consumes.  No longer would the average American citizen be forced to pay a tax to cover a service that he or she does not use.  Instead of an income tax we would have a consumption tax.  The more you consume, the more you would pay.  

Those who increase their savings or decrease their consumption of new goods and services would see a net increase in their personal worth.  The disposable income for the average American household would increase.  With the increase in disposable income, consumer spending, investment, and savings would increase. 

All citizens would be taxed at the same rate of 23% with an exemption for the first $10,000 of income spent on taxable goods and services for each American citizen over the age of 18.  This makes the marginal tax rate significantly lower for the majority of taxpayers.  It also ensures that the nations poorest citizens, who are the least able to afford taxes, would have most if not all of their incomes to spend or save.  This would increase their current standards of living.   
The following chart shows what a consumer spends on taxable goods and services and the marginal tax he/she would have to pay.

	National Sales Tax

	 
	(2)
	(3)
	(4)
	(5)
	 

	Amount Spent on Taxable Goods and Services
	Exemption
	Adjusted Taxable Expenditures
	Flat Tax Rate
	Tax
	Marginal Tax Rate

	 $            10,000 
	 $            10,000 
	 $                   -   
	23%
	 $                   -   
	0.0%

	               20,000 
	 $            10,000 
	 $            10,000 
	23%
	 $              2,300 
	11.5%

	               30,000 
	 $            10,000 
	 $            20,000 
	23%
	 $              4,600 
	15.3%

	               50,000 
	 $            10,000 
	 $            40,000 
	23%
	 $              9,200 
	18.4%

	             100,000 
	 $            10,000 
	 $            90,000 
	23%
	 $            20,700 
	20.7%

	         125,000 
	 $            10,000 
	 $           115,000 
	23%
	 $            26,450 
	21.2%

	             250,000 
	 $            10,000 
	 $           240,000 
	23%
	 $            55,200 
	22.1%

	             500,000 
	 $            10,000 
	 $           490,000 
	23%
	 $           112,700 
	22.5%

	          1,000,000 
	 $            10,000 
	 $           990,000 
	23%
	 $           227,700 
	22.8%


Used goods would be tax free, an added benefit to those lower and middle income levels that purchase generally purchase used goods.   The national sales tax would only apply to new goods and services and not used.   Again, another benefit to those who need it most, low to middle income households.
Educational expenses would not be taxed; this would include the cost of books.  Because the incentive to earn is higher it would be expected that an increase would be seen in the number of Americans seeking a higher education.  This means that disposable income would increase, leading to an increase in spending and savings.  
The following chart illustrates the tax savings all American citizens over the age of 18 would enjoy.  For ease of comparison, the income tax rates were based on the Federal Tax Rates for 2004 for a single person claiming only the standard deduction and the Sales Tax Dollars assume that the total income is being spent on taxable goods and services, exempting the first $10,000 spent, and not allowing for exempt goods, investments, or savings.  (Note:  Actual tax savings would be significantly higher for middle to upper income taxpayers because not all income would be spent on taxable goods and services.)
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The wealthy who can afford a National sales tax, would be paying a higher marginal percentage than low and middle income Americans due to the fact that, on average, they consume more.  Those in the upper income brackets, who are currently able to shelter a sizable portion of their income from taxes, would no longer have the legal loop-holes to reduce their liability.  The national sales tax would not reduce their appetites for extravagance, but would significantly enrich the tax coffers.
The increase in disposable income of the American population would foster an increase in investments and savings.  Because investments and savings would no longer be taxed, it would be expected that a considerable number of Americans would begin investments and savings.  This would help to decrease the United States dependence on foreign investment and loans from the current $1.5 billion a day.  This doesn’t mean that foreign investments would decrease; on the contrary they would in all likelihood increase as the economy gained momentum.  

Corporations would gain a competitive edge in the global economy leading to an increase in the demand for American made goods and services.  This new demand would create more jobs.  Putting more Americans to work would increase the disposable income of the country as a whole.  This would increase consumer spending and savings.  The imbalance in imports and exports would gradually be minimized if not eliminated all together.  This would spawn an increase in GDP that isn’t so reliant on foreign investments.  
How it Works
To ensure that the poorest Americans don’t suffer from the change in the tax exemptions, all Americans over the age of 18 would receive an exemption.  The Internal Revenue Service would issue exemption cards, similar to a debit card that would require a pin number and photograph.  The cards would enable all Americans over the age of 18 to exempt the first $10,000 of their expenditures.  After this they would be required to pay the National sales tax rate of 23% on all new goods and services.   Only American citizens over the age of 18, or a court approved emancipated minor, would be eligible to receive the exemption cards.
Since only American citizens would receive the exemption, all foreigners in the country, whether legal or illegal, would be required to pay the National sales tax on any purchases of new goods and services.  This would add substantial dollars to the tax coffers that would not be at the expense of American citizens.

The national sales tax rate would not apply to pre-existing houses or buildings, only to new structures.  Nor would it apply to rental property, this would put an undue burden on renters and landlords that would be counter to the objective to make America a global competitor.
The national sales tax would lessen the burden imposed upon Americans who are forced to comply with the current tax system.  The hours of frustration and agonizing over the pages of tax codes that are nearly impossible to comprehend and comply with would be over.  This would put an end to the horror stories that are widely publicized about encounters with the IRS, where they seized individual’s assets first and asked questions later.  Once the $10,000 exemption was exceeded, the tax paid at the check out counter would fulfill their tax obligation to the government.
For 45 states and the District of Columbia that currently have a sales tax system in place, the collection, reporting, and payment of the national sales tax would be a relatively easy and low cost transition.  For the remaining states the costs would be minimal and one-time start up costs that would be offset by the decrease in taxes they would have to pay.  

This would not eliminate the need for the Internal Revenue Service, just change their direction.  It would actually make the job of the Internal Revenue Service easier by limiting the number and type of individuals they would have to keep track of for compliance and payment of the national sales tax.  Those who would be required to comply with the collection and payment of taxes would be easily identified.

With the advancements of technology, the average business would be able to make daily electronic transfers to the Federal Reserve Bank in their districts.  Even if they did not have the computer capabilities in their business, most banks have an electronic payment system in place already set up for the transfer of tax funds.
Effect on Consumer Spending and the Economy
The increase in real disposable income would dramatically alter the Americans incentive to work and their consumption behavior.  With income no longer taxed the incentive to work would increase.  For many Americans the incentive to work overtime, or at all, is outweighed by the taxes.  For example, let’s look at a tool maker who earns $16.50 per hour.  If the marginal income tax rate is 40% for overtime and the overtime wage is $24.75 per hour the toolmaker would be taxed $9.90 for each hour of overtime worked.  This makes the after tax pay rate per hour $14.85.  If there was a national sales tax instead of income taxes the incentive to work that extra hour and increase the output of the GDP would be 40% higher.  Thus the tool maker would not work under the current system, but would work under the national sales tax system.
Effect on Macroeconomic Variables

Since demand for American made goods and services is likely to rise, production will increase.  This increase in production will create jobs and the opportunity cost and incentive to work will increase since the employee would be able to keep most of what he or she earns.  
This increased employment and number of hours worked will result in an increase in real disposable income for the individual.  More disposable income increases investments, savings, and spending which causes an increase in demand resulting in an increase in GDP.  

The demand for stocks, bonds, and investments will increase and the cost of investing will raise causing interest rates to fall.  The decline in interest rates will cause an increase in spending for large ticket items such as cars and houses.  This increase in consumer spending, investing, and savings will decrease the demand for import goods and services.  This will spur not just American investments but foreign investments as well.
The final cost for new goods and services would go up because of the sales tax, but the due to the elimination of income and corporate taxes the pre tax price will decrease leading to an increase in productivity.  This will result in lower prices to the consumer.  The lower price will cause an increase in the demand for American made goods and services.  Companies would gain an advantage in the global market place as the demand for American made goods and services rise.  As a result of the increased demand, employment levels would rise.  
Due to the increase in employment disposable income levels rise.  The increase in disposable income would lead to increased investments, savings, and consumption.  As a result the net exports would go from a deficit to a surplus.  This means we would be exporting more goods and services than we imported (X – M).  This would cause an increase in the GDP stimulating economic growth.  
Thus, a restructuring of the current tax system to a national sales tax, would result in a win-win-win situation for Americans, American companies, and the nation as a whole.
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